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QUESTION 1

If an LSP needs to use an admin group, which of the following configurations is NOT required on the Alcatel-Lucent
7750 SR?

A. Assign an admin group to a MPLS interface.

B. Configure CSPF on the LSP.

C. Configure at least one strict hop on the LSP path.

D. Configure an "include" or "exclude" statement on the LSP path.

Correct Answer: C

QUESTION 2

Which of the following routing protocols are supported on the Alcatel-Lucent 7750 SR to enable constraint-based LSPs?
(Choose two)

A. RIPV2-TE
B. CSPF

C. OSPF-TE
D. ISIS-TE
E. RSVP-TE

Correct Answer: CD

QUESTION 3

Which LSA is used for OSPF-TE purposes?
A. Type 9 LSA ?Link local LSA

B. Type 10 LSA ?Area local LSA

C. Type 8 LSA ?TE router LSA

D. Type 11 LSA ?Network LSA

Correct Answer: B

QUESTION 4

Which of the following commands may only be used on the head end router to verify the status of an LSP named "LSP
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1"? (Choose two)

A. show router mpls Isp "LSP 1" originate
B. show router mpls Isp "LSP 1" path detalil
C. show router rsvp session originate

D. show router rsvp session "LSP 1"

Correct Answer: BC

QUESTION 5

Click on the exhibit.

An LDP-over-RSVP tunnel is established between routers R1 and R6. There is a VPN service running between routers
R1 and R6. Which of the following is TRUE?

A. Router R4 swaps both the RSVP-TE LSP label and LDP transport label received with new labels,
B. Router R4 swaps the VPN service label received with a new label.

C. Router R4 uses the same RSVP-TE LSP label as the one received from router R3.

D. Router R4 uses the same LDP transport label as the one received from router R3.

Correct Answer: A
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